T4

1P

238 - &XFREY—7 - Ad—+E1HE

JHEE (5H23H « 24RH)

238 -&XFREY—7-Ba—+E1HE

ADHEE vs BOBE

COBE vs DOME

ADBE —22 @ 17 BOBE
HEJIEEE 15 @ 20 BIIFES
(76) 18 3 20 (72)

21 @ 15

248 - XFREY—7 - Ad—+E1HE

cCOmE —22 O T — DOBE

AEJIBARE 16 @ 17 JEJIIF

(72) 17 ® 14 (52)
17 @ 14 —

248 - &ZFREKY—7 -Ba—+E1RE

A-BOBE vs C- DOME

A-BODHKE vs C- DOBE

A-Bomr —21 D 14 C - DOME
E)IEE 18 @ 1 JE)IIFE
(72) 19 ® 12 (47)

——14 @ 10

248 -kFRBY—J - Ad—+E25E

A-BogE —16 (D 27 — c-pomE
BIES 5 @ 14 TN BARE
(53) 19 3 12 (64)
—13 @® 11 —

248 - &ZFREY—7 -Ba—+E2HE

A-BOlE vs C- DOBE

A-BOKE vs C - DOKE

A-Bor —21 D 12 C-DOME A-Bogsr —17 D 29 — c-Do®#E
EJIEZ 15 @ 15 HBJIIBA Rk BJIES 13 @ 17 TBJIIES
(73) 14 @ 15 (69) (71) 18 @ 22 (83)
—23 @ 21 23 @ 15 —
[ZF - REsV—7 ]
¥ B’ 4 A B C D 5| & lcalllE fr
O O O
A B\ Ik 2 76-72 73-69 79-47 (3]0 1
I X X X
B Ja)ies 72-76 53-64 7183 |03 3
X O O
C JE)NIBA R 69-73 64-53 7252 || 2|1 2
X O X
D Je )\ 47-72 83-71 52-72 1{2 3
B B JB) I B2 /& R LFRAF B
YEIE IS MBI BARR B ke femE mid QR)IgER = 4)
%5 3L bV EE) IR EEFR| = £0b uIERES5)
5% 34 JE)IFEABEZER|  BHE M unsg# 4)
B & (B # 4)

i AGdE JBIIRER # 4)



